Lattice 2 by 2

Name:

Use lattice multiplication to solve each problem.
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2) 68 x 34 =
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13x 37 =
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Answers
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ﬂh Lattice 2 by 2 Name. Answer Key

Use lattice multiplication to solve each problem. Answers
1) _ 2) _ 3) _
88 x 14 = 68 x 34 = 13x 37 = N 1’232
8 8 6 8 1 3
To .~ T, - “To -
01071, 17127, 01075 |2 2312
188 5| 8| 4 ol 3|7 °®
3 3 .7 A2 s Ao T2 . |= 481
5 . ) 4 . 4 ) 4 . . . 1 7
? 3 L 4 . 2754
3 2 1,7 2 8 1
5, 2,050
4) _ 5) _ 6) _
8lx34= 25x 82 = 44 x 99 = 6 4.356
8 1 2 5 4 4
To .~ T2 - T3 -
215 8 L™ e 3.70° o |7 1400
5 |7 4 3 5 | 6| 0 4l 67 6
3 0 0 1 ) 3 8 3,332
AL ; AL N N R
7 0 - 3
5 4 5,7 0 5 6
10. 4,240
7) - 8) _ 9 _
20x 70 = 34 x98 = 11 x 53 = 11 11050
2 0 3 4 1 1
0 | 3 0,
1 7 2.71° 7 o 0 5 |12 765
1 4 0 3 7 , 6 0 5 5
0 0 2 7|3 0 0
0 |8 3
4 0 0 3|7 a2 5 3 3
0 0 3,7 2 8 3
10) 80 x 53 = 11) 14 x75= 12) 15x51 =
8 0 1 4 1 5
0 12 2
4 5 O 17 |7 0 5
4 0 0 i S v 8 0 5 5
2 0 0 .72 0 0
3 5 1
2 4 0 ol 5 0 7 1 5
4 0 5,70 6 5
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